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1. Which of the sentences below best expresses the main idea of the text?

A. Scientific knowledge does not form the basis for technological advancement.

B. Science touches many aspects of our lives, from the mundane to the world-changing.

C. Whether science has contributed to society or not is not clear.

D. It is known that science and technology have done more harm than good to humankind.

2. Mark the sentences T (true) or F (false).

1. If it weren't for science, we would be living in total darkness now.

2. Science can only affect our daily routines rather than global issues.
3. Modern medicine has decreased mortality rates dramatically.

4. Science has played a huge role in increasing food production to feed the world. '_\__\_/
5. It is true that science has given us electricity and vaccines, but it hasn’t done anything recently. —




